e SYa )
Lavadora Kenmore Elite 11026924503

D.\Smbuidor Autoriz; do

BD-315-B




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 388952 | Washer basket drive assembly
2 62658 Washer drive tube thrust ring
3 356427 | Washer basket drive tube seal
4 64027 Washer basket drive tube
5 64035 Washer retainer clip
6 64232 Washer brake assembly
7 62703 Washer spin bearing
8 3353956 | Washer brake spring sleeve
9 387806 | Spring
10 3355360 |Washer brake spring sleeve
11 661516 |Cam
12 63022 Sleeve
13 64194 Washer brake cam driver
14 90368 Washer brake cam retainer clip




D\stribuidor Autor %
ey X
Surlenﬂll

Venta de Refacciones
Electrodomesticas

Lavadora Kenmore Elite 11026924503

19
28
28 HF 8




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 8559373 | Washer drain hose
2 8541667 | Washer clip
3 8577378 | Washer drain hose u-bend
4 9740848 | Dishwasher screw
5 3351614 |Washer screw, #10-24 x 3/8-in
6 3347868 | Washer cable tie
7 62863 Washer screw, #10-16 x 3/8-in
8 8055003 | Retainer
9 90767 Washer screw
10 8568314 | Washer control panel strap
11 8318015 |Panel
12 8541669 | Connector
13 8541658 | Connector
14 62747 Pad panel
15 8519200 |Washer rear panel support
16 8539874 | Shield
17 8318046 | Washer clip
18 8541668 | Washer wire harness retainer
19 661661 | Washer power cord
20 8559349 | Washer power cord strain relief
21 301958 | Appliance hose clamp
22 8317974 | Washer tub fill nozzle hose
23 370450 | Appliance hose clamp
24 387606 | Washer tub fill nozzle
25 3979347 | Washer water inlet valve
26 8572718 | Washer start capacitor




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
27 8571377 | Washer fill hose
27A 8571378 | Washer fill hose
28 3976300 |Washing machine washer
29 8317496 | Washer hose clamp
30 3363366 |Hose clamp
31 3951449 | Washer tub-to-pump hose




D.\Smbuidor Autor;j

&
g O A

Venta de Refacciones

Lavadora Kenmore Elite 11026924503

SurieR

Electrodomesticas




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 8543478 | Washer fabric softener dispenser cup
2 358237 | Washer agitator bolt
3 8537434 | Washer agitator cam repair kit
4 8055141 |Washer agitator cam bearing
5 8318246 | Washer tub ring
6 3354845 | Washer agitator clip
7 8538247 | Washer agitator
8 3954507 | Washer tub ring
9 3359585 | Washer tub ring seal
10 8526016 |Washer spin basket
11 21366 Washer spanner nut
12 8054468 | Washer agitator auger
13 8283125 | Washer outer tub
14 8543666 | Washing machine washer
15 389140 | Washer drive block
16 383727 | Washer tub gasket
17 3347780 | Washer water-level pressure switch
19 8533540 |Washer agitator s
20 8054350 |Washer agitator
21 3366877 | Washer agitator dog set
22 8055140 | Washer agitator spring retainer
23 3348855 | Washer o-ring
24 3948705 |Washer bleach dispenser hose
25 3354733 | Washer agitator cap
26 3949550 | Washing machine washer
27 8055228 | Washing machine washer
28 8519788 | Washer basket balance ring




D\stribuidor Autoriz o
' )| Levadora lite 11026924503
Slll‘lﬂnall UG avadora Kenmore Elite 5




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 3400076 |Washer power cord
2 64067 Washer suspension spring bracket
3 63907 Washer suspension spring
4 8575214 | Washer spinner support
5 64065 Washer suspension spring bracket
6 63466 Washer leveling link assembly
7 62597 Washer leveling leg spring
8 62837 Washer leveling leg pin
9 62596 Washer leveling leg
10 8546455 | Washer center pos
11 357409 | Washer agitator shaft seal
12 8318050 |Washer counterwe
13 62568 Washer suspension plate friction pad
14 3946509 | Washer suspension plate
15 3363660 |Washer base pad set
16 39946512 | Washer base
17 3359452 | Washer leveling leg lock nut
18 389102 |Leveling foot
19 356934 | Washer top agitator shaft seal
20 285203 | Washer bearing and seal kit
21 63134 Washer sound dam
22 63806 Washer suspension spring retainer




D.\Smbuidor Autoriz; do

(90]
o
LN
<
N
o)
o)
N
o
—
—
(«F]
=
L
o
—
o
=
c
J)
V4
©
—
o
°
@©
>
©
-l

12}
g
8
=
:
k]
[m]

C

GC-215-



Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 3360629 | Washer gear case
2 285202 | Cover-gc
3 3349985 | Washer gear case cover seal
4 285195 | Appliance silicone
5 63320 Pinion
6 356427 | Washer basket drive tube seal
7 389387 | Washer agitator drive shaft
8 90369 Retaining ring
9 62677 Spring retainer
10 62676 Spring
11 63273 Washer agitator drive shaft
12 62619 Washer gear case flat washer
13 62580 Washer agitator dr
14 62581 Washer agitator drive shaft
15 285509 | Washer agitator drive shaft
16 62618 Washer
17 285205 | Washer agitator cam bearing
18 285205 | Washer agitator cam bearing
19 389230 |Gear case
21 285352 | Washer gear case oil seal
22 3351614 |Washer screw, #1
23 3362552 |Retainerring
24 285735 | Washer
25 3360629 | Washer gear case
26 388253 | Washer neutral drain assembly
27 3349296 |Rack
28 62621 Actuator
29 388815 | Washer




D-\Smbuidor Autoriz; o
3lll‘lena|] (i Lavadora Kenmore Elite 11026924503

Venta de Refacciones
Electrodomesticas

=

Literature Parts




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 W10026350 | Installation instructions
1A 8566934 | Washer owner's manual
1B 8566913 | Laundry guide
1C 8571878 | Wiring diagram
1D 8567127 |Energy guide
1F 4314044 | Washer owner's manual
2 8543479 |Top (white)
2A 8543480 |Top

3 62750 Washer cabinet spacer
3349654 | Washer sound dampening pad

5 63424 Washer cabinet (white)

5A 3954357 | Washer cabinet

6 62780 Washer cabinet clip

7 3357011 |Range screw

8 3351614 | Washer screw, #10-24 x 3/8-in
9 8318084 | Washer lid switch assembly
10 355274 | Lid hinge mounting

11 8559336 | Hinge

12 54583 Washer lid hinge, rear
13 8319539 | Washer lid hinge bearing
14 19119 Washer lid hinge bumper

15 8567440 |Lid

15A 8567441 |Bisque lid

16 9724509 | Washer lid bumper

17 3390631 | Washer screw, #10-16 x 3/8-in
18 21097 Washer lid hinge bracket

19 8566266 | Washer dispenser as




e CYa
Lavadora Kenmore Elite 11026924503

I 4
Venta de Refacciones

D.\Smbuidor Autoriz; do

SurieR

Electrodomesticas




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 90767 Washer screw

3366847 | Washer water-level pressure switch

2

3 8564136 | Washer water temperature switch
4 8559504 | Bracket
5

6

7

3957364 | Washer wire harness
8536939 | Laundry appliance control knob clip

8559502 | Washer control panel end cap
7A 8559516 |End cap
8 8312709 |Laundry appliance end cap clip
9 8559501 | Washer control panel end cap, right
9A 8559514 |End cap
10 8541468 |Washer control knob
10A 8541469 | Washer control knob (bisque)
11 3950357 | Cycle switch
12 8541465 | Washer timer dial
12A 8541466 | Dial
13 8541457 | Washer control knob
13A 8541458 | Washer control knob
14 8566628 | Control panel
14A 8566627 | Control panel
16 3400073 | Washer screw
17 3954573 | Washer cycle selector switch
18 8317387 | Washer tub ring
19 8541110 |Washer timer
20 3400818 | Washer screw
21 8317975 | Washer clip




Lavadora Kenmore Elite 11026924503

D\stribuidor Autor do |
y  m A A.‘iw'
Surleﬂﬂll

- Venta de Refacciones
Electrodomesticas




Lavadora Kenmore Elite 11026924503

Guia N.P. Descripcion
1 388952 | Washer basket drive assembly
2 63292 Washing machine washer
3 62697 Washer brake retainer clip
4 63283 Washer retainer spring
5 8299642 | Washer clutch
6 W10817888 | Washer clutch band
7 62646 Washer clutch spring cap
8 8559387 | Washer clutch spring
9 3360629 | Washer gear case
10 3357334 | Washer screw
11 62611 Washer motor mounting bracket
12 62691 Washer drive motor grommet
13 285753 | Washer motor coupling
14 3946532 | Shield
16 3400516 |Washer screw
17 3349637 | Washer motor retainer
18 |W10838408 | Shield tub
19 8541504 | Washer drive motor
20 8529896 | Washer motor swit
21 8546127 | Washer drain pum
22 3363394 | Washer drain pump
23 3387485 | Washer screw
24 3355454 | Washer clutch anti-rattle clip




